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3. ‘By all means’ means-
. meaningless «. meanangful
of. certainly ¥, uncertainly T o
2. *Mutton’ is a-
#. Common noun ¥, Abstract noun
. Material noun 9. Propernoun .4
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8. Which one of the verb?
F. openness . closely
. reopen W, openly B o
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». What is the meaning of phrase ‘Dead
letter*?
¥. Law not in force
%. Bad letter
<. Old letter
9. Letter written by unknown person %%
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Y0, N9¥ W@ 99 #07 - Translate the sentence.
#. To err is human.
%. Man can do wrong.
f. Human being cannot right.
%. To wrong is human. A
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sb. Which gender is the word ‘orphan’?
%, Reules %, Feminine
4, Common %, Masculine B9
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23, He has been ill... Friday last.
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38.Which one is the past participle form of
‘Freeze'?
#, Freeze ¥, Froze
o, Frozen %, Frozeen B9
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©. As the sun ..., I decided to go out.
#. was shining 4. have shone
o, shine %, shines %
oB1: ee3 (WEFE Competitive English)
o0, B TN (TR (WETH LT 5] BT OF 7
@, Jrgae o, “unTg
51, femereE W, T T %
ofB1: 300 (Weye Ao fonrafe; ub sewe)
©8 AT A Wk W
T, Hem @nbaam o Faane e
o, fanfa w @ W e afee B o
oB1: b (e e femmafn of sewa)

RFTa7 & TN 7007 rRfaT e
Rerafare O IR O T
‘@FE Competitive English’



R[LTE Recent Job Soluliop .
oe. 3 wweren Yo G a7 oy e vl

owEg ¢33 DR g < vey
*. wy G %, b iR
1, »8 fabm w, b3 fitm .«

Bl bhd 99 ¢ VG (SUE Basic Math,
January 2023 Edition)
b, Identify the correct spelling-
#*. questionaire %, questsoneir
. questionnaire ¥, questionair B9
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80.Choose the correct sentence:
#. He is angry upon me.
4, He is angry at me.". He is angry of me,
¥. He is angry with me. 8%
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88.What is the meaning of ‘Root and
branch’?
=, From top to . Branch like bottom
. Completely %, None B
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8. He was ... honourary Magistrate.
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&3, What is the meaning of the word *Vice
Versa'?

#, for example 4, face to face
. namely
. the terms being exchanged R
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e.‘The garden is very beautiful’. The
exclamatory form is-
#, What a beautiful garden it is!
<. How beautiful the garden is!
1. What beautiful the garden is!
%. How beautiful a garden is! T
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b .Reading is an excellent habit. Here the
underlined word is a-
#. verbal noun < participle
o1, verb %, gerund ew
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©49.*Who will help you?’ T#ifo7 5= passive
form @i
#. By whom will you be helped?
%, By whom you will be helped?
. By whom would you be helped?
% By whom you would be helped? LA
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. The adverb form of *heart” is-
#. heart %, hearten
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